Chemistry 
Form V

1)   Find the mass concentration of the following:

(a) 21.25cm3  of a solution of nitric acid containing 6.25g HNO3 
(b) 25cm3  of a solution of zinc sulphate containing 20.0g ZnSO4
(c) 10 dm3 of a solution of copper (II) sulphate containing 1kg CuSO4
(d) 1cm3 of a solution of ammonia containing 2.5g NH3
(e) 25cm3 of a solution of sodium hydroxide containing 0.02mol NaOH

2)  Find the molar concentration of the following:
      (a)  sulphuric acid, in which 750 cm3 contain 1.5 mol H2SO4
      (b)  sodium hydroxide, in which 7.2 dm3 contain 10.0 mol NaOH

      (c)   sodium chloride, in which 25 cm3 contain 2.4 x 10-3 mol NaOH

3)   Calculate the number of moles of solute in the following volumes of solution:

       (a) 25.0cm3 of 0.05 mol dm-3 H2SO4
       (b) 200 cm3 of 0.1 mol dm-3 NaOH 

       (c) 4.0 dm3 of 0.01 mol dm-3 NaCl
